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MAGIC.105 - % Unmapped reads (1kbp window)
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B Controllers — Sample size = 96
B Dense breakpoints — Sample size = 81
O Reliable breakpoints — Sample size = 10
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B Controllers — Sample size = 57
B Dense breakpoints — Sample size = 23
O Reliable breakpoints — Sample size = 29
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MAGIC.287 - % Unmapped reads (1kbp window)

B Controllers — Sample size = 49
B Dense breakpoints — Sample size = 30
O Reliable breakpoints — Sample size = 14
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a B Controllers — Sample size = 75
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O Reliable breakpoints — Sample size = 37
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MAGIC.426 - % Unmapped reads (1kbp window)

B Controllers — Sample size = 43
B Dense breakpoints — Sample size = 18
O Reliable breakpoints — Sample size = 20
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MAGIC.433 - % Unmapped reads (1kbp window)

B Controllers — Sample size = 67
B Dense breakpoints — Sample size = 42
O Reliable breakpoints — Sample size = 20
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B Controllers — Sample size = 64
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